

# Behaviour of Bilateral Mock Theta Functions of Order Nine at Infinite Number of Points

Jitendra Singh

*Department of Mathematics,  
Arignar Anna Government Arts and Science College,  
Karaikal, U.T. of Puducherry, India  
jitendrasinghlu@rediffmail.com*

## Abstract

In January, 1920 before three months of his death, Ramanujan wrote about seventeen functions in his last letter to G. H. Hardy, called them Mock Theta functions and assigned them of order three, five and seven. In 2015, Ahmad obtained eight bilateral mock theta functions of order “nine” by using transformation due to Slater and proved that these functions satisfy the characteristic property of the mock theta function. In this paper we found that bilateral mock theta functions of order nine are irrational at infinite number of points  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

**Subject Classification:**[2020] 33D; 11Z.

**Keywords:** Bilateral Mock Theta Function, Cantor Series.

## 1 Introduction

Mock theta functions were introduced first time by Ramanujan in his last letter to G. H. Hardy in January 1920. He gave no definition of mock theta functions but only a list of 17 examples and a qualitative description of the key property that he had noticed. Ramanujan assigned these 17 examples as mock theta functions of order three, five and seven. Watson [1936, 1937] studied these functions of order three and five in great details, and added three more functions of order three to this set of functions.

Mingarelli [2007] showed that Ramanujan’s mock theta functions of order three, Watson’s three additional mock theta functions, the Rogers-Ramanujan q-series, and six mock theta functions of order five take on irrational values at the points  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ . Recently Singh [2020] showed that bilateral mock theta functions of order “five” obtained by Srivastava [1999] take on irrational values at  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

Ahmad [2015] obtained the following eight bilateral mock theta functions of order ‘nine’ by using the transformation (1.1.3) due to Slater [1996] for  $r = 4$ :

$$(1.1) \quad f_0c_4(q) = \sum_{-\infty}^{\infty} \frac{q^{2n^2-n}}{(-q;q)_n},$$

$$(1.2) \quad f_1c_4(q) = \sum_{-\infty}^{\infty} \frac{q^{2n^2}}{(-q;q)_n},$$

$$(1.3) \quad F_0c_4(q^2) = \sum_{-\infty}^{\infty} \frac{q^{4n^2-2n}}{(q;q^2)_n},$$

$$(1.4) \quad F_1c_4(q^4) = \sum_{-\infty}^{\infty} \frac{q^{8n^2}}{(q^6;q^4)_n},$$

$$(1.5) \quad \Phi_0c_4(q^2) = \sum_{-\infty}^{\infty} \frac{q^{4n^2}}{(-q;q^2)_n},$$

$$(1.6) \quad \Phi_1c_4(q^2) = \sum_{-\infty}^{\infty} q^{3n^2+6n} (-q;q^2)_n,$$

$$(1.7) \quad \Psi_0 c_4(q) = \sum_{-\infty}^{\infty} q^{3 \frac{(n^2+3n)}{2}} (-q; q)_n, \text{ and}$$

$$(1.8) \quad \Psi_1 c_4(q) = \sum_{-\infty}^{\infty} \frac{q^{2n^2+2n}}{2(-q; q)_n}.$$

He showed that the above functions are the limiting cases of the basic hypergeometric series  ${}_5\Phi_4$  and proved that they satisfy the characteristic property of the mock theta function. In this paper, we discuss the behaviour of the functions (1.1) - (1.8) at infinite number of points. In the Section 4, a theorem for the behaviour of these functions at  $q = \pm \frac{1}{2}, \pm \frac{1}{3}, \pm \frac{1}{4}, \dots$  has been stated and proved. For proving this theorem, we use two theorems given by Oppenheim's [1954, 1955] regarding the Cantor series which are stated in the Section 3.

## 2 Notations

We use the following  $q$  - notations and some standard results:

For  $|q^k| < 1$ ,  $k$  a non-negative integer, then

$$(a; q^k)_n = \prod_{j=0}^{n-1} (1 - aq^{kj}), n \geq 1, \quad (a; q^k)_0 = 1, \quad (a; q^k)_\infty = \prod_{j=0}^{\infty} (1 - aq^{kj}),$$

$$(a)_n = (a; q)_n = (1 - a)(1 - aq) \dots (1 - aq^{n-1}),$$

$$(a_1, a_2, \dots, a_m; q^k)_n = (a_1; q^k)_n (a_2; q^k)_n \dots (a_m; q^k)_n,$$

A generalised basic hypergeometric series with base  $q^k$  is defined as

$${}_r\Phi_{r-1} \left[ \begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_{r-1} \end{matrix}; q^k, z \right] = \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_r; q^k; z)_n}{(q^k; q^k)_n (b_1, b_2, \dots, b_{r-1}; q^k; z)_n} z^n, |z| < 1.$$

A bilateral basic hypergeometric series with base  $q^k$  is defined as

$${}_r\Psi_r \left[ \begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; q^k, z \right] = \sum_{n=-\infty}^{\infty} \frac{(a_1, a_2, \dots, a_r; q^k)_n}{(b_1, b_2, \dots, b_r; q^k)_n} z^n \text{ for } \left| \frac{b_1 b_2 \dots b_r}{a_1 a_2 \dots a_r} \right| < |z| < 1, \text{ and } (a; q^k)_{-n} = \frac{(-q^k/a)^n}{(q^k/a; q^k)_n} q^{\frac{kn(n-1)}{2}}.$$

## 3 Theorems of Oppenheim regarding the Cantor Series

This theory began with a seminal paper presented by Cantor [1869] in which he gave a necessary and sufficient condition for the series of the form

$$(3.1) \quad S = \sum_{n=1}^{\infty} \frac{b_n}{a_1 a_2 \dots a_n},$$

where the  $a_i, b_i$  are integers to have irrational sums. Cantor showed that  $S$  is irrational if and only if the  $b_i > 0$  infinitely often and  $a_i - 1 > b_i$  infinitely often with the basic conditions of the form  $a_i \geq 2, a_i - 1 \geq b_i \geq 0$  and for every integer  $k \geq 1$  there is an  $n$  such that  $k \mid a_1 a_2 \dots a_n$ .

Oppenheim [1954, 1955] gave an extension of the theorem to the case where the  $b_i$  can have both signs and dropped the divisibility condition on the product of the first  $n, a$ 's. Further development in the theory came in a paper by Hancl and Tijdeman [2004] in which the use of Cantor-Oppenheim a priori condition  $a_i - 1 \geq b_i$  is avoided. The following two theorems given by Oppenheim regarding the Cantor series have been used in next section:

**Theorem 3.1** (Oppenheim [1954], Theorem 4): Let  $(a_n), (b_n)$  be two sequences of integers with  $a_n \geq 2, 0 \leq b_n \leq a_n - 1$ . If  $b_n > 0$  infinitely often and if there is a subsequence  $i_n$  such that  $a_{i_n} \rightarrow \infty$  and  $b_{i_n}/a_{i_n} \rightarrow 0$  as  $n \rightarrow \infty$ , then  $S$  as defined in (3.1) is irrational.

**Theorem 3.2** (Oppenheim [1954], Theorem 8): Let  $(a_n), (b_n)$  be two sequences of integers with  $a_n \geq 2, |b_n| \leq a_n - 1$ . Furthermore, let  $b_m b_n < 0$  for some  $m > i, n > i$  for any assigned integer  $i$ . If there is a subsequence  $i_n$  such that  $a_{i_n} \rightarrow \infty$  and  $b_{i_n}/a_{i_n} \rightarrow 0$  as  $n \rightarrow \infty$ , then  $S$  given by (3.1) is irrational.

#### 4 Behaviour of Bilateral Mock Theta Functions of Order Nine

**Theorem 4.1.** *Bilateral mock theta functions of order nine (1.1) – (1.8) are irrational at  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .*

**Proof of Theorem 4.1:** The proof of the Theorem 4.1 is given for the functions (1.1) – (1.8) one by one separately:

##### 4.1

We can write the function (1.1) as

$$(4.1.1) \quad f_0c_4(q) = 1 + f_0S_4(q) + \sum_{n=1}^{\infty} q^{\frac{3n(n+1)}{2}} (-1; q)_n .$$

It follows that  $f_0c_4(q)$  is irrational if and only if  $f_0S_4(q)$  is irrational, and

$$(4.1.2) \quad f_0S_4(q) = \sum_{n=1}^{\infty} \frac{q^{2n^2-n}}{(-q; q)_n} = \sum_{n=1}^{\infty} \frac{q^{2n^2-n}}{(1+q)(1+q^2)\dots(1+q^n)} .$$

For  $p, q \in \mathbb{C}, q \neq 0$ , we have

$$(4.1.3) \quad f_0S_4\left(\frac{p}{q}\right) = \sum_{n=1}^{\infty} \frac{p^{2n^2-n} q^{\frac{3n}{2}}}{q^{\frac{3n^2}{2}} (q+p)(q^2+p^2)\dots(q^n+p^n)} .$$

Setting  $p = 1$  in (4.1.3), we get

$$(4.1.4) \quad f_0S_4\left(\frac{1}{q}\right) = \sum_{n=1}^{\infty} \frac{q^{\frac{3n}{2}}}{q^{\frac{3}{2}}(q+1)q^{\frac{9}{2}}(q^2+1)\dots q^{\frac{3}{2}(2n-1)}(q^n+1)} .$$

Comparing  $f_0S_4\left(\frac{1}{q}\right)$  with the Cantor series as given by (3.1), we get  $a_n = q^{\frac{3}{2}(2n-1)}(q^n + 1)$  and  $b_n = q^{\frac{3n}{2}}$ . For every integer  $q \geq 2$ , and any  $n \geq 1$ ,  $b_n > 0$ ,  $a_n \geq 2$ ,  $a_n - 1 > b_n > 0$ ,  $a_n \rightarrow \infty$  &  $b_n/a_n \rightarrow 0$  as  $n \rightarrow \infty$ , then by Theorem 3.1,  $f_0S_4\left(\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ .

Again setting  $p = -1$  in (4.1.3), we get

$$(4.1.5) \quad f_0S_4\left(-\frac{1}{q}\right) = \sum_{n=1}^{\infty} \frac{(-1)^n q^{\frac{3n}{2}}}{q^{\frac{3}{2}}(q-1)q^{\frac{9}{2}}(q^2+1)\dots q^{\frac{3}{2}(2n-1)}(q^n+(-1)^n)} .$$

Comparing  $f_0S_4\left(-\frac{1}{q}\right)$  with the Cantor series as given by (3.1), we get

$a_n = q^{\frac{3}{2}(2n-1)}(q^n + (-1)^n)$  and  $b_n = (-1)^n q^{\frac{3n}{2}}$ . For every integer  $q \geq 2$ , and any  $n \geq 1$ ,  $|b_n| > 0$ ,  $a_n \geq 2$ ,  $a_n - 1 > |b_n| > 0$ ,  $a_n \rightarrow \infty$  &  $b_n/a_n \rightarrow 0$  as  $n \rightarrow \infty$ , then by Theorem 3.2,  $f_0S_4\left(-\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ .

As it has been shown that  $f_0S_4\left(\frac{1}{q}\right)$  and  $f_0S_4\left(-\frac{1}{q}\right)$  are irrational for every integer  $q \geq 2$ , so  $f_0S_4(q)$  is irrational for  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

##### 4.2

The function (1.2) can be written as

$$(4.2.1) \quad f_1c_4(q) = 1 + f_1S_4(q) + \sum_{n=1}^{\infty} (-1)^n q^{\frac{3n^2+n}{2}} (-1; q)_n ,$$

where

$$(4.2.2) \quad f_1S_4(q) = \sum_{n=1}^{\infty} \frac{q^{2n^2}}{(-q; q)_n} = \sum_{n=1}^{\infty} \frac{q^{2n^2}}{(1+q)(1+q^2)\dots(1+q^n)} .$$

Whenever it is defined,  $f_1c_4(q) \notin \mathbb{Q}$ , iff  $f_1S_4(q) \notin \mathbb{Q}$ . Let  $p, q \in \mathbb{C}$ ,  $q \neq 0$ , then

$$(4.2.3) \quad f_1S_4\left(\frac{p}{q}\right) = \sum_{n=1}^{\infty} \frac{p^{2n^2} q^{\frac{n}{2}}}{q^{\frac{3n^2}{2}} (q+p)(q^2+p^2)\cdots(q^n+p^n)}.$$

Setting  $p = \pm 1$  in (4.2.3), we get

$$(4.2.4) \quad f_1S_4\left(\pm\frac{1}{q}\right) = \sum_{n=1}^{\infty} \frac{q^{\frac{n}{2}}}{q^{\frac{3}{2}} (q\pm 1)q^{\frac{n}{2}} (q^2+1)\cdots q^{\frac{3}{2}(2n-1)} (q^n+(\pm 1)^n)}.$$

The sum  $f_1S_4\left(\pm\frac{1}{q}\right)$  is a Cantor series as given by (3.1) with the identifications

$a_n = q^{\frac{3}{2}(2n-1)} (q^n + (\pm 1)^n)$ ,  $b_n = q^{\frac{n}{2}}$ . For every integer  $q \geq 2$ , and any  $n \geq 1$  all the conditions of Theorem 3.1 are satisfied, so by Theorem 3.1,  $f_1S_4\left(\pm\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ . Hence  $f_1S_4(q)$  is irrational for  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

### 4.3

The function (1.3) can be written as

$$(4.3.1) \quad F_0c_4(q^2) = 1 + F_0S_4(q) + \sum_{n=1}^{\infty} (-1)^n q^{3n^2+2n} (q; q^2)_n.$$

It is followed that  $F_0c_4(q^2)$  is irrational if and only if  $F_0S_4(q)$  is irrational, and

$$(4.3.2) \quad F_0S_4(q) = \sum_{n=1}^{\infty} \frac{q^{4n^2-2n}}{(q; q^2)_n} = \sum_{n=1}^{\infty} \frac{q^{4n^2-2n}}{(1-q)(1-q^3)\cdots(1-q^{2n-1})}.$$

Let  $p, q \in \mathbb{C}$ ,  $q \neq 0$ , then

$$(4.3.3) \quad F_0S_4\left(\frac{p}{q}\right) = \sum_{n=1}^{\infty} \frac{p^{4n^2-2n} q^{2n}}{q^{3n^2} (q-p)(q^3-p^3)\cdots(q^{2n-1}-p^{2n-1})}.$$

Taking  $p = \pm 1$  in preceding expression, we get

$$(4.3.4) \quad F_0S_4\left(\pm\frac{1}{q}\right) = \sum_{n=1}^{\infty} \frac{q^{2n}}{q^3 (q\mp 1)q^9 (q^3\mp 1)\cdots q^{3(2n-1)} (q^{2n-1}\mp 1)}.$$

Since for every  $q \geq 2$ ,  $q \in \mathbb{Z}$ , the above expression is a Cantor series as given by (3.1) with  $a_n = q^{3(2n-1)} (q^{2n-1} \mp 1)$  and  $b_n = q^{2n}$  and all the conditions of Theorem 3.1 are satisfied, so  $F_0S_4\left(\pm\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ . Thus  $F_0S_4(q)$  is irrational for  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

### 4.4

The function (1.4) can be written as

$$(4.4.1) \quad F_1c_4(q^4) = 1 + F_1S_4(q) + \sum_{n=1}^{\infty} (-1)^n q^{6n^2+4n} (q^{-2}; q^4)_n.$$

It is noted that  $F_1c_4(q^4)$  is irrational if and only if  $F_1S_4(q)$  is irrational, and

$$(4.4.2) \quad F_1S_4(q) = \sum_{n=1}^{\infty} \frac{q^{8n^2}}{(q^6; q^4)_n} = \sum_{n=1}^{\infty} \frac{q^{8n^2}}{(1-q^6)(1-q^{10})\cdots(1-q^{4n+2})}.$$

As before, for  $p, q \in \mathbb{C}$ ,  $q \neq 0$ , we have

$$(4.4.3) \quad F_1S_4\left(\frac{p}{q}\right) = \sum_{n=1}^{\infty} \frac{p^{8n^2} q^{4n}}{q^{6n^2} (q^6-p^6)(q^{10}-p^{10})\cdots(q^{4n+2}-p^{4n+2})}.$$

Taking  $p = \pm 1$  in (4.4.3), we obtain

$$(4.4.4) \quad F_1S_4\left(\pm\frac{1}{q}\right) = \sum_{n=1}^{\infty} \frac{q^{4n}}{q^6(q^6-1)q^{18}(q^{10}-1)\dots q^{6(2n-1)}(q^{4n+2}-1)}.$$

The above sum is a Cantor series as given by (3.1) with  $a_n = q^{6(2n-1)}(q^{4n+2} - 1)$  and  $b_n = q^{4n}$  for every  $n \geq 1$ . All the conditions of Theorem 3.1 are satisfied, so  $F_1S_4\left(\pm\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ , therefore  $F_1S_4(q)$  is irrational for  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

### 4.5

In this case, we write the function  $\Phi_0c_4(q^2)$  given by (1.5) as

$$(4.5.1) \quad \Phi_0c_4(q^2) = 1 + \Phi_0S_4(q) + \sum_{n=1}^{\infty} q^{3n^2}(-q; q^2)_n.$$

It follows that  $\Phi_0c_4(q)$  is irrational if and only if  $\Phi_0S_4(q)$  is irrational, and

$$(4.5.2) \quad \Phi_0S_4(q) = \sum_{n=1}^{\infty} \frac{q^{4n^2}}{(-q; q^2)_n} = \sum_{n=1}^{\infty} \frac{q^{4n^2}}{(1+q)(1+q^3)\dots(1+q^{2n-1})}.$$

If  $p, q \in \mathbb{C}, q \neq 0$ , we see that

$$(4.5.3) \quad \Phi_0S_4\left(\frac{p}{q}\right) = \sum_{n=1}^{\infty} \frac{p^{4n^2}}{q^{3n^2}(q+p)(q^3+p^3)\dots(q^{2n-1}+p^{2n-1})}.$$

Now set  $p = \pm 1$  in (4.5.3), we obtain

$$(4.5.4) \quad \Phi_0S_4\left(\pm\frac{1}{q}\right) = \sum_{n=1}^{\infty} \frac{1}{q^3(q\pm 1)q^9(q^3\pm 1)\dots q^{3(2n-1)}(q^{2n-1}\pm 1)}.$$

It is observed that the above sum is a Cantor series as given by (3.1) with the identifications  $a_n = q^{3(2n-1)}(q^{2n-1} \pm 1)$  and  $b_n = 1$  for every  $n$ . All the conditions of Theorem 3.1 are satisfied, so  $\Phi_0S_4\left(\pm\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ . Hence  $\Phi_0S_4(q)$  is irrational for  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

### 4.6

The function  $\Phi_1c_4(q^2)$  given by (1.6) can be expressed as

$$(4.6.1) \quad \Phi_1c_4(q^2) = \sum_{n=0}^{\infty} q^{3n^2+6n}(-q; q^2)_n + \Phi_1S_4(q).$$

It is clear that  $\Phi_1c_4(q^2)$  is irrational if and only if  $\Phi_1S_4(q)$  is irrational, and

$$(4.6.2) \quad \Phi_1S_4(q) = \sum_{n=1}^{\infty} \frac{q^{4n^2-6n}}{(-q; q^2)_n} = \sum_{n=1}^{\infty} \frac{q^{4n^2-6n}}{(1+q)(1+q^3)\dots(1+q^{2n-1})}.$$

Whenever  $p, q \in \mathbb{C}, q \neq 0$ , then

$$(4.6.3) \quad \Phi_1S_4\left(\frac{p}{q}\right) = \sum_{n=1}^{\infty} \frac{p^{4n^2-6n}q^{6n}}{q^{3n^2}(q+p)(q^3+p^3)\dots(q^{2n-1}+p^{2n-1})}.$$

Setting  $p = \pm 1$  in (4.6.3), we obtain

$$(4.6.4) \quad \Phi_1S_4\left(\pm\frac{1}{q}\right) = \frac{q^3}{q\pm 1} + \frac{1}{q\pm 1} \sum_{n=1}^{\infty} \frac{q^3}{q^3(q^3\pm 1)q^9(q^5\pm 1)\dots q^{3(2n-1)}(q^{2n+1}\pm 1)}.$$

The sum on the right of (4.6.4) is a Cantor series with the identifications

$a_n = q^{3(2n-1)}(q^{2n+1} \pm 1)$  and  $b_n = q^3$  for all  $n$ , and these terms satisfy the conditions of Theorem 3.1 for every integer  $q \geq 2$ , so  $\Phi_1S_4\left(\pm\frac{1}{q}\right)$  is irrational for  $q \geq 2$ . Thus  $\Phi_1S_4(q)$  is irrational for  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

#### 4.7

As in the preceding cases, the function (1.7) can be written as

$$(4.7.1) \quad \Psi_0 c_4(q) = \sum_{n=0}^{\infty} q^{\frac{3(n^2+3n)}{2}} (-q; q)_n + \Psi_0 S_4(q),$$

where

$$(4.7.2) \quad \Psi_0 S_4(q) = \sum_{n=1}^{\infty} \frac{q^{2n^2-5n}}{(-1; q)_n} = \sum_{n=1}^{\infty} \frac{q^{2n^2-5n}}{(1+1)(1+q)(1+q^2)\cdots(1+q^{n-1})}.$$

It is clear that  $\Psi_0 c_4(q)$  is irrational if and only if  $\Psi_0 S_4(q)$  is irrational.

For  $p, q \in \mathbb{C}, q \neq 0$ , then

$$(4.7.3) \quad \Psi_0 S_4\left(\frac{p}{q}\right) = \sum_{n=1}^{\infty} \frac{p^{2n^2-5n} q^{\frac{9n}{2}}}{q^{\frac{3n^2}{2}} (1+1)(q+p)(q^2+p^2)\cdots(q^{n-1}+p^{n-1})}.$$

Substituting  $p = 1$  in (4.7.3) and simplifying, we get

$$(4.7.4) \quad \Psi_0 S_4\left(\frac{1}{q}\right) = \frac{q^3}{2} + \frac{q^3}{2(q+1)} + \frac{1}{2(q+1)} \sum_{n=1}^{\infty} \frac{q^3}{q^3(q^2+1)q^6(q^3+1)\cdots q^{3n}(q^{n+1}+1)}.$$

It is clear that  $\Psi_0 S_4\left(\frac{1}{q}\right)$  is irrational if the sum on the right of (4.7.4) is irrational, and the sum on the right of (4.7.4) is a Cantor series as given by (3.1) with the identifications  $a_n = q^{3n}(q^{n+1}+1)$ ,  $b_n = q^3$ . For every integer  $q \geq 2$ ,  $a_n$  and  $b_n$  satisfy all the conditions of Theorem 3.1, so  $\Psi_0 S_4\left(\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ .

Again substituting  $p = -1$  in (4.7.3) and simplifying, we get

$$(4.7.5) \quad \Psi_0 S_4\left(-\frac{1}{q}\right) = -\frac{q^3}{2} + \frac{q^3}{2(q-1)} + \frac{1}{2(q-1)} \sum_{n=1}^{\infty} \frac{(-1)^n q^3}{q^3(q^2+1)q^6(q^3-1)\cdots q^{3n}(q^{n+1}+(-1)^{n+1})}$$

It is clear that  $\Psi_0 S_4\left(-\frac{1}{q}\right)$  is irrational if the sum on the right of (4.7.5) is irrational, and the sum on the right of (4.7.5) is a Cantor series as given by (3.1) with the identifications  $a_n = q^{3n}(q^{n+1}+(-1)^{n+1})$ ,  $b_n = (-1)^n q^3$ . For every integer  $q \geq 2$  and any integer  $n \geq 1$ ,  $|b_n| > 0$ ,  $a_n \geq 2$ ,  $a_n - 1 > |b_n| > 0$ ,  $a_n \rightarrow \infty$ ,  $\frac{b_n}{a_n} \rightarrow 0$  as  $n \rightarrow \infty$ . Hence by Theorem 3.2,  $\Psi_0 S_4\left(-\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ .

Since  $\Psi_0 S_4\left(\frac{1}{q}\right)$  and  $\Psi_0 S_4\left(-\frac{1}{q}\right)$  are irrational for every integer  $q \geq 2$ , therefore  $\Psi_0 S_4(q)$  is irrational at  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

#### 4.8

In this case, we write  $\Psi_1 c_4(q)$  given by (1.8) in the form

$$(4.8.1) \quad \Psi_1 c_4(q) = \frac{1}{2} + \frac{1}{2} \Psi_1 S_4(q) + \frac{1}{2} \sum_{n=1}^{\infty} q^{\frac{3}{2}n(n-1)} (-1; q)_n,$$

where

$$(4.8.2) \quad \Psi_1 S_4(q) = \sum_{n=1}^{\infty} \frac{q^{2n^2+2n}}{(-q; q)_n} = \sum_{n=1}^{\infty} \frac{q^{2n^2+2n}}{(1+q)(1+q^2)\cdots(1+q^n)}.$$

Whenever it is defined,  $\Psi_1 c_4(q) \notin \mathbb{Q}$ , iff  $\Psi_1 S_4(q) \notin \mathbb{Q}$ . For  $p, q \in \mathbb{C}$  and  $q \neq 0$ , we have

$$(4.8.3) \quad \Psi_1 S_4\left(\frac{p}{q}\right) = \sum_{n=1}^{\infty} \frac{p^{2n^2+2n}}{q^{\frac{3}{2}n(n+1)} (q+p)(q^2+p^2)\cdots(q^n+p^n)}.$$

Setting  $p = \pm 1$  in (4.8.3), we get

$$(4.8.4) \quad \Psi_1 S_4\left(\pm\frac{1}{q}\right) = \sum_{n=1}^{\infty} \frac{1}{q^3(q\pm 1)q^6(q^2+1)\cdots q^{3n}(q^n+(\pm 1)^n)}.$$

The sum  $\Psi_1 S_4\left(\pm\frac{1}{q}\right)$  is a Cantor series as given by (3.1) with the identifications  $a_n = q^{3n}(q^n + (\pm 1)^n)$ ,  $b_n = 1$  for all  $n$ . For every integer  $q \geq 2$  and any  $n \geq 1$ , all the conditions of Theorem 3.1 are satisfied, therefore  $\Psi_1 S_4\left(\pm\frac{1}{q}\right)$  is irrational for every integer  $q \geq 2$ . Hence  $\Psi_1 S_4(q)$  is irrational at  $q = \pm\frac{1}{2}, \pm\frac{1}{3}, \pm\frac{1}{4}, \dots$ .

**Acknowledgment:** I am thankful to the Referee for his valuable comments and suggestions.

## References

- [1] Ahmad M., *On the Behaviour of Bilateral Mock Theta Functions-I*, Algebra and Analysis: Theory and Applications, Narosa Publishing House New Delhi, (2015), 259-274.
- [2] Cantor G., *Über die eintachen Zahlensysteme*, Zeit für Math. and Phys. 14 (1869), 121-128.
- [3] Gasper G. and Rahman M., *Basic Hypergeometric series*, Cambridge University Press, (1990).
- [4] Diananda P.H. and Oppenheim A., *Criteria for irrationality of certain classes of numbers*, II, Amer. Math. Monthly 62 (4) (1955), 222-225.
- [5] Hančl J. and Tijdeman R., *On the irrationality of Cantor series*, J. Reine Angew. Math. (Crelle), 571 (2004), 145-158.
- [6] Mingarelli A.B., *On the Irrationality of Ramanujan's Mock Theta Functions and other  $q$ -series at an infinite number of points*, arXiv:0712.4002v1 [math. NT] (2007).
- [7] Oppenheim A., *Criteria for irrationality of certain classes of Numbers*, Amer. Math. Monthly 61(4) (1954), 235-241.
- [8] Singh J., *Irrationality of Bilateral Mock Theta Functions of Order Five at Infinite Number of Points*, GANITA, Vol. 70 (1) (2020), 115-125.
- [9] Slater L.J., *General Hypergeometric Series*, Cambridge University Press (1996).
- [10] Srivastava B., *Certain Bilateral Basic Hypergeometric Transformations & Mock Theta Functions*, Hiroshima Maths J.29 (1999), 19-26.
- [11] Watson G.N., *The Final Problem: An Account of the Mock Theta Functions*, J. London Math. Soc. 11 (1936), 55-80.
- [12] Watson G.N., *The Mock Theta Functions II*, Proc. London Math. Soc. 42 (1937), 272-304.